OO TTHAWN —

MBANEXZESE—E (BEMRIZMENMT5E)

KTE+EE+ TR 0.4ha KFE+HEE+ TE TR 4.8ha
FEE +KFE+ SRR 8.4ha TEE +KFE+ SRR 8.4ha
JKFEHEER TR (FL) 3.2ha KFEERETE (BER) 3.2ha
KFE+EE+RAY|  5.9ha KFE+EE+RAL|  6.2ha
Kig+E=+AEDE 2.8ha Kig+E=+AEYE 2.8ha
Kig+E=+AEDE 3.5ha Kig+E=+AEDE 4.3ha
KR+ B R (AL 2.9ha JKFE+ MR TR (B 2.9ha
KFEEREFE (BER) 2.1ha KFEEREE (BR) 2.1ha
PAY (FJE) +KFE 3.3ha AR (FhE) +Ki# 3.3ha
Kig+E=+AEDE 1.7ha Kig+E=+AEDE 1.7ha
MEERHR (AN +KiE 1.6ha EREFE (M) +KHE 2.1ha
TKFE+ 3 A+ R 5% B 3+ st 12.6ha TKFE+ 3 A+ R AR B 3+ R Adt 12.6ha
Kig+E=+AEDE 1.9ha Kig+E=+AEYE 1.9ha
Kig+E=+AEDE 0.4ha Kig+E=+AEDE 1.4ha
KA+ A A 1.8ha KA R A AR 2.6ha
KERAFILE (S5 +HRERcs 17.9ha KERAIFILE (55 +ERERwcs 17.9ha
Kig+E=+AEDE 0.0ha Kig+E=+AEYE 1.6ha
FEE+E+KF+we s 8.3ha FfE+E+KE+we s 8.3ha
KiE+RRSE 2.3ha KiE+ARSE 3.8ha
i (FEM+EAM) 1.4ha MEEREE (B 1.4ha
i (M) +KFREME 4.6ha TEREE (EI) +KREEE 4.6ha
MEEREF e +7KFE [ 0.0ha MEEREFR+/KFE | 1.3ha
Kig+E=+AEDE 1.3ha KFR+E=HEEYSE 1.3ha
Kig+E=+AEDE 1.5ha KFR+E=HEEYE 1.5ha
Kig+E=+AEDE 0.9ha KFR+E=HEEYSE 1.1ha
T IR + MEER P K AR 2.2ha T IR + AR EP S+ K FR 3.5ha
Kig+E=+AEDE 1.3ha KFR+E=HEEYSE 1.3ha
MEEE (FEW) 1.8ha MR EE (FEM) 2.0ha
HRERE @I +kiwe s 0.9ha BRERE @I +kitwe s 0.9ha
Kig+E=+AEDE 0.8ha KFR+E=HEEYE 0.8ha
KEE+P 4 2.8ha K+ 4 2.8ha
Kig+E=+AEDE 1.1ha KFR+E=HEEYE 1.3ha
Kig+E=+AEDE 1.8ha KFR+E=HEEYSE 1.8ha
Kig+E=+AEDE 0.8ha KFR+E=HEEYE 0.8ha
HREE (AL - B0 0.0ha HEREE (FEM - $M) 1.1ha
FIES KBRS — ba— 8.1ha FIES KBRS — ba—> 8.4ha
JEE KR+ SR B R 1.0ha R+ KT+ IR 2.4ha
KFR+E=HEEY S 0.7ha KFR+E=HEEYE 0.7ha
KFR+E=HEIEYE 0.7ha KFR+E=HEEYE 0.7ha
MEEREE (M) +KiE 2.1ha MEEREE (BER) +KFE 2.1ha
KFR+E=HEIEYE 0.7ha KFR+E=HEEYE 0.7ha
KFR+E=HEEY S 0.7ha KFR+E=HEEYE 0.7ha
IKFE+HEEREFR | 0.0ha IKFEHHEEREFR | 1.9ha
R R G TEEE S 0.6ha BB+ KA BRI K 2.4ha
PIAF (%5E) +HED 0.3ha MRS (%) +SEEY 2.3ha
FEE=+k%E| 0.0ha FEEI=+kTE| 1.8ha
MEEREFRe+/KFE | 4.2ha MEEREFR+/KFE | 4.2ha
I=#%EY (&F) 0.7ha I=EY X 0.7ha
KB BB R R R 0.1ha KB BB R ERGR 1.0ha
KFR+E=HEEYE 0.6ha KFR+E=HEEYE 0.6ha
IKFR+E=HEIEYE 0.6ha IKFR+E=HEIEYE 0.6ha
IKFR+E=HEIEYE 0.5ha IKFR+E=HEIEYE 0.6ha
IKFR+E=HEIEYE 0.6ha IKFR+E=HEIEYE 0.6ha
28t () 0.6ha 28t () 0.6ha
PIFAF (%5E) +fBHED 2.5ha MRS (%) +SEEY 2.8ha
BB R+ KiErwe s 3.7ha BB R+ KiErwe s 4.4ha
TR+ ERTE+EME 0.5ha e+ IERBE+ RS 0.5ha
T EF S alE | 1.9ha B S RlE | 1.6ha
IKFR+E=HEIEYE 0.5ha IKFR+E=HEIEYE 0.5ha
1= 1£ 2 + KR 2.9ha f=1E£Z +KFE 2.9ha
IKFR+E=HEIEYE 0.6ha IKFR+E=HEIEYE 0.5ha
IKFR+E=HEIEYE 0.5ha IKFR+E=HEIEYE 0.5ha
IKFR+E=HEIEYE 0.0ha IKFR+E=HEIEYE 0.6ha
IKFR+E=HEIEYE 0.6ha IKFR+E=HEIEYE 0.6ha
IKFR+E=HEIEYE 0.0ha IKFR+E=HEIEYE 0.5ha
IKFF+R A H+E—= > 0.4ha KIE+HRA H+E— > 0.4ha
KRB =+EIEYE 0.5ha KRB =EEYDE 0.5ha
BRBE EM- I=hT ) 1.2ha BRBE @M - =T ) 1.2ha
KRB =+EIEYE 0.8ha KRB =EEYDE 0.8ha
KRB =+EIEYE 0.9ha KRB =EEYDE 0.9ha
KRB =+EIEYE 0.9ha KRB =EIEYE 0.9ha
TER+KTR+ R E SR M 5.0ha TEE KT + B Fp e+ = 4E 5.9ha




E HBRBE (BEM - HF) ki 2.8ha ERHR (BN - R ki 2.8ha

E KR+ R+ TR 2.3ha JKFE+E M+ B IR 2.9ha

E EFHF+HEA+BEE 3.5ha EH+HTEA+BEE 4.0ha

E ZE+RAS 2.5ha EE+RAS 2.5ha

E KT+ EEHRwo s 1.6ha KRR+ Z B w e s 1.6ha

E MR (BN +KiE 3.1ha MR (BN +KFE 3.1ha

E TEREE (FEM - R L UE) 0.9ha FERERE (M - Ay LB 0.9ha

E IEE+KFE+EME|  1.2ha IEEKFE+EE|  1.2ha

E KFE+HFF+RSA—ba—> 1.1ha KFE+FF+RA—ba—> 3.6ha

E MR BT 3R 0.3ha MR BT R 0.3ha

& KFE+E=HEIEMSE 0.4ha KFE+E=+EIEYME 0.4ha

AT 24 (IT—) twes 1.4ha £ (To3—) twes 1.4ha

FI| F & KFE+E=+EIEMSE 1.5ha KFE+E=+EIEYMSE 1.5ha
A& KFE+E=+EIEYMSE 1.1ha KFE+E=EIEYMSE 0.9ha
A& KFE+E=HEIEMSE 0.6ha KFE+E=+EIEYME 0.8ha
A& KFE+E=HEIEYMSE 0.6ha KFE+E=+EIEYMSE 0.7ha
A& KFE+E=+EIEMSE 0.7ha KFE+E=+EIEYMSE 0.7ha
A& KFE+E=+EIEYMSE 0.1ha KFE+E=EIEYMSE 1.0ha

FI| F & KFE+E=+EIEMSE 0.7ha KFE+E=EIEYMSE 0.7ha
B IE BRE+KFE 2.1ha B E+KFE 2.1ha
RE BREE FEN - I=hTR) 0.1ha BREE M- =T 1.5ha
E KFRHEREFR (FEM) 2.4ha KFEHERER (M) 2.7ha

ATE Bk 0.3ha B 0.3ha

E MEREE (FEM - HE) KR 4.3ha MEREE (EMN - HE) +KE 4.3ha

E BTy ha— 0.8ha BEas Ty ha—> 5.0ha

g VEDYKIRTREHT (Z2=2) 0.5ha VEDY K RTREHT (Z2=2) 2.7ha

E EE (VD) 0.4ha EE (UND) 0.4ha

E MEEREFE (FMH) 0.0ha MEEEFE (FI) 1.0ha

E IKFRHEREFR (FM) 1.8ha KFE+ERER (M) 1.8ha

E KA REEREFR (B +R4 1.1ha KA REEREFR (B +RAs 1.4ha

E MEEREFS+KAE | 1.3ha IR F+KHE | 3.2ha

E HHRHE (B +wes 2.6ha MERHE (BN +twes 29ha

BIE MR BT 0.0ha MR BT R 2.3ha

E MEEREE (@) 4K 2.2ha MEERER (FEW) +kF 2.9ha

E T IR+ ER B R 0.4ha TR + BB R 1.8ha

E ER+ERAHEY | 9.5ha ERE+EARMEY | 11.4ha

E MEERHR (BN +KiE 1.8ha MEERHR (AW +KiE 1.8ha

E FERGR (FI) +8KkK 1.5ha MEEREPR (FIN) +8AdkK 1.5ha
FAIE EEEx (&) 1.4ha EEEx (&) 1.4ha
=E HEREE @0 +kiE|  1.3ha HEER @L) +kFE)  1.3ha
FIAE KFE+E =B S 1.3ha Kg+E=+AEYE 1.3ha
FEES Kig+E=+AEYE 0.0ha Kg+E=+AEDE 1.4ha
FIAE Kig+E=+AEYE 1.2ha Kg+E=+AEYE 1.2ha
FEES KFE+E =B S 1.3ha Kig+E=+AEYE 1.3ha
HE IKFEHERHE (B 1.1ha KFEHEREE (M) 1.1ha
BE FEEREFR+EE [ 0.9ha MEEEEFR+IEE |  09ha
S KFE+E =B S 0.9ha KFE+E=+EIEYSE 0.9ha
2E MEREE (FM - M) 0.5ha HEREE (FEW - S 0.5ha
FIAE KFE+E =B S 0.8ha KFE+E=+EIEYSE 0.8ha
MR BT 0.2ha hE% Fr 3 0.8ha
F KFE+E =B S 1.0ha Kg+E=+AEYE 1.0ha
FEE+HBEREFR |  0.7ha TEE+HEEREFS | 0.7ha
g KE+ARY (%) 0.7ha KTE+AAE (K 0.7ha
Kig+E=+AEYE 1.3ha KFE+E=+EIEYE 1.3ha

FEREE (M) K 0.7ha MEEREE (FM) +kFE 0.7ha

KA R R Hh B e+ s 25ha KR+ B B B+ A 2.5ha

KFE+E=+HEEYE 0.6ha KFE+E=+EEYSE 0.9ha

H KFEHEREFR (FM) 0.7ha KRBT R (FM) 0.7ha
F KFE+E=+HEEYE 0.6ha Kig+E=+AEYE 0.6ha
2 MEER Er 3 0.3ha M EREF R 0.3ha
E, EREZ (EN) +kiEtwes 0.6ha BREZ (FEM) +kiEwes 1.4ha
RS KFE+E=+HEEYE 0.6ha Kig+E=+AEYE 0.6ha
BE TEtE+iEER TP | 0.5ha TEE+BEREFSE | 0.5ha
E?:j\ E PEERERE (FEM - #K - WCS) 0.5ha MEEREE (FEM - #K - WCS) 0.5ha
RS Kig+E=+AEYE 0.5ha Kig+E=+AEYE 0.5ha
RS Kig+E=+AEYE 0.8ha Kig+E=+AEYE 0.8ha
RS Kig+E=+AEYE 0.5ha Kig+E=+AEYE 0.5ha
RS Kig+E=+AEYE 0.5ha Kig+E=+AEYE 0.5ha
RS Kig+E=+AEYE 0.0ha Kig+E=+AEYE 0.6ha
BlE Kig+E=+AEYE 0.7ha Kig+E=+AEYE 0.8ha
RE TEtE+iEER TP | 0.3ha TEE+FBEREFSE | 0.3ha
RS Kig+E=+AEDE 0.9ha Kig+E=+AEYE 0.9ha
BE A +F ) +KEE 0.3ha A N+F Y +KEE 0.2ha
RE M ER By 3 0.3ha MR EF R 0.3ha
RIE BB R R IR 0.0ha BB R R IR 2.4ha
RS Kig+E=+AEDE 3.0ha KFE+E=HEEYE 3.0ha
RE KEF+HEE+ AT w e s 1.6ha KFE+EE+ KT +w © s 1.6ha
BE HEREE (FL) kflrwe s 1.2ha FEREE (T okflwe s 1.5ha




2TE T B +KTE+EAE 1.2ha T B+ KTE+EAE 1.2ha
FI| F & KRB =+EEYE 1.0ha KRB =EIEYDE 1.0ha
FI| F & KRB =+EIEYE 0.9ha KRB =EIEYE 0.9ha
EE KRB =+ EEE 1.0ha KRB =+ EEYE 1.0ha
SRR JEE KRR+ e 4 0.1ha JEE K TR+ FhE 4 2.4ha
FIFAE KRB =+EEYE 0.6ha KRB =EIEYDE 0.6ha
FIFAE KRB =+EIEYE 1.2ha KRB =EIEYE 1.2ha
FI| F & KRB =+ EEDE 1.3ha KRB =+ EEYE 1.3ha
EES KEE+E=+EIEYE 2.1ha KRB =EIEYE 2.1ha
FI| F & KRB = +EIEDE 2.2ha KRB =+ EIEDE 2.2ha
FI| F & KRB = +EIEDE 1.8ha KRB =+EEDE 1.8ha
E|E KRB =+ EIEDE 0.3ha KRB =+ EEDE 1.4ha
& KRB = +EIEDE 0.8ha KRB =+EIEYDE 0.8ha

E TR+ BRI + R 2.9ha KFE+ TR B3 + BT 5 2.9ha
AE IEE+KFE+EME|  2.3ha EEKFE+EE|  2.3ha
¥ KRB =+ EIEDE 0.8ha KRB =+ EEDE 0.8ha
E KRB = +EIEDE 0.4ha KRB =+ EIEYDE 1.5ha
= BaE= (&) 0.5ha mEEE= () 0.5ha
¥ KRB = +EIEDE 0.7ha KRB =+EEDE 0.7ha
RIE RAAH 0.4ha RAH 0.4ha
E|E KRB = +EIEDE 0.2ha KRB =+ EIEYDE 0.8ha
LIRS KRB = +EIEDE 0.5ha KRB =+ EIEDE 0.5ha
LS KRB = +EEDE 0.5ha KRB =+EEDE 0.5ha
LS KRB =+ EIEDE 1.0ha KRB =+ EIEYDE 1.0ha
FIRAE KRB =+EEDE 0.4ha KRB =+ EIEYE 1.0ha
FIAE KRB = +EIEDE 0.8ha KRB =+ EIEYDE 0.8ha
FIAE KEE+E=+EEDE 1.5ha KRB =+ EIEYDE 1.5ha
E ;"'F: KEE+E M-I+ v A D 1.8ha KEE+Z M-I+ C w A D 1.9ha
FIAE KEE+E=+EIEDE 1.4ha KRB =+ EIEYDE 1.4ha
HE JKFE+w ¢ s HERRHERE 1.0ha KFE+w c s +EIHHRE 1.0ha
FRXE HBMEHFRERER|  04ha B RERES 0.4ha
s BRI w o s +ERi4 1.7ha BRI w o s +ERi4 3.9ha
RTE KFE+EEREFE|  0.0ha KFE+HEREFR|  1.5ha
HE IKFEHERHE (BN 0.2ha AFEHEREE (M) 1.0ha
FI| & KEE+E=+EIEDE 0.8ha KRB =+ EIEYDE 0.8ha
FI| & KRB = +EIEDE 0.3ha KRB =+ EIEYDE 0.6ha
FI| F & KEE+E=+EIEDE 0.7ha KRB =+ EIEYDE 0.7ha
RE Z 8.4ha Z 8.2ha
FI| F & KEE+E=+EEDE 1.1ha KRB =+ EIEYDE 1.1ha
EES KRB =+ EIEDE 0.4ha KEE+E=+EIEYDE 0.9ha
ES KiE+E=+EIEDE 1.0ha KiE+E=+EIEYE 1.0ha
FI| FH & KRB =+ EIEDE 0.9ha KIE+E=+EEYE 0.9ha
B E S — 0.7ha P —— 0.7ha
FI| FH & KRB =+ EIEDE 0.6ha KIE+E=+EEYE 0.6ha
FI| & KiE+E=+EIEDE 0.6ha KiE+E=+EIEYE 0.6ha
FI| FH & KRB =+ EIEDE 0.6ha KIE+E=+EEYE 0.6ha
RE 8 (8 0.5ha 28 (8 0.5ha
FRE WERBRE (7 R/A5HR) 0.5ha WRBRE (725 HR) 0.5ha
FI| & KEE+E =+ EIEDE 0.6ha KiE+E=+EIEYE 1.1ha
FI| FH & KEE+E =+ EIEDE 0.0ha KIE+E=+EEYE 1.3ha
RE Bt (k) 1.2ha B2t (T F) 1.2ha
gi] E KEEE+RE R w C s 13.9ha KIBELRE R w C s 13.9ha
HE KT+ E AR B IR T 6.7ha KT+ E AR B R T R 6.7ha
EARE EEKFE+E+ZIE]  2.5ha EE+KFE+E+Z(E|  2.5ha
FRE K EfEEERwe s | 3.1ha K EERERwes | 3.1ha
FIAE KEE+E =+ EIEDE 0.6ha KB =+ EIEYE 2.2ha
FEES KB =+ EIEYE 0.0ha KB+ EIEYSE 2.0ha
E BWBHR (Z0=4) okiBAE 1.8ha BHHR (ZU=0) okiBAZ 1.8ha
:ES KB =+ EIEYE 1.0ha KB+ EIEYSE 1.3ha
:ES KB =+ EIEYE 1.7ha KB+ EIEYSE 1.7ha
R BE 1.0ha BE 1.0ha
:ES KB =+ EIEYE 1.0ha KB+ EIEYSE 1.0ha
:ES KB =+ EIEYE 0.0ha KB+ EIEYSE 1.0ha
BIE MEEREFR+{EEZ |  0.9ha MEERETR+EE |  09ha
:ES KB =+ EIEYE 0.4ha KB+ EIEYSE 0.9ha
:ES KB =+ EIEYE 0.0ha KB+ EIEYSE 0.9ha
BIE MEEREl=+/KFE [  0.9ha MEERE=+/KFE | 0.9ha
:ES KB =+ EIEYE 0.0ha KB+ EIEYSE 0.8ha
:ES KB =+ EIEYE 0.0ha KB+ EIEYSE 1.1ha
:ES KB =+ EIEYE 1.3ha KB+ EIEYSE 1.3ha
:ES KB =+ EIEYE 0.8ha KB =+ EIEYSE 0.8ha
:ES KB =+ EIEYE 0.0ha KB =+ EIEYSE 0.7ha
FRIE MEEEEFR+{ER |  0.7ha MEREFR+TEE | 0.7ha
I;ES KRB =+EEYSE 0.7ha KB +EEYSE 0.7ha
I;ES KRB =+EEYSE 0.0ha KB +EEYSE 1.2ha
I;ES KRB +EEYSE 1.7ha KB +EEYSE 1.7ha
I;ES KRB +EEYSE 0.6ha KB +EEYSE 0.6ha

B E EE+KAE+E 0.6ha EE+KAE+E 0.6ha




FIEE KRB =+EEYE 0.8ha KRB =EIEYDE 0.3ha
FIEE KRB =+EEYE 0.5ha KRB =EIEYDE 0.5ha
FIEE KRB =+EIEYE 0.5ha KRB =EIEYE 0.5ha
EIEE KRB =+ EEE 1.1ha KRB =+ EEYE 1.1ha
FE HEE+E1E 1.0ha HEE+Z1E 1.8ha
RS KRB =+EEYE 0.4ha KRB =EIEYDE 0.6ha
FE BEEHNIBH|  0.3ha BEERHNIBH|  04ha
FIEE KRB =+ EEDE 0.4ha KRB =+ EEYE 0.4ha
FIEE KEE+E=+EIEYE 0.7ha KRB =EIEYE 0.7ha
FIAE KRB = +EIEDE 0.6ha KRB =+ EIEDE 0.6ha
E|:E KRB = +EIEDE 0.5ha KRB =+EEDE 0.5ha
FIRE KRB =+ EIEDE 3.0ha KRB =+ EEDE 3.0ha
KRB = +EIEDE 0.2ha KRB =+EIEYDE 0.2ha
TE BREFE FEM) +KiEtwe s 2.6ha BRHE FEM) KiEwe s 2 8ha
E e 2.4ha B2 2.4ha
BTE BB+ EREE 0.0ha BB+ REE 1.7ha
& KRB = +EIEDE 1.6ha KRB =+ EIEYDE 1.6ha
& KRB = +EIEDE 0.9ha KRB =+ EIEDE 0.9ha
AF MwREx @& k@  0.7ha MEREE (BN +KkiE 0.7ha
353 0.6ha BE 0.6ha
3 PIFSE (558 S 0.6ha A4 CERE) 8RR 0.6ha
&3 381.0ha 463.4ha




